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Change 1

	Test Case
	tc_7_2_3_21

	Reason for change
	The test case is written in such a way that the STATUS PDU always contains the Last Sequence Number (LSN)  that is populated based on the Sequence Number (SN) of the last AMD PDU received with a Poll bit set. If UE sends the Poll with the oldest unacknowledged PDU (which is correct behavior, as per section 11.3.2 of 25.322 v 5.9.0) , then the test case fails. 

	Summary of change
	VRR is updated for every PDU received, and the STATUS PDU is sent using the value of VRR, instead of the SN of the last poll PDU.
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Description of problem and verification of the TTCN correction on Anite:

Unzip ETSILogs.zip to a folder. The directory “72321_Logs” contains 2 logs corresponding to RLC testcase 7.2.3.21. 

Anitelog_7_2_3_21_Fail.txt corresponds to the failed log of the testcase and Anitelog_7_2_3_21_Pass.txt corresponds to the passed log with the TTCN fix.

Analysis of log “Anitelog_7_2_3_21_Fail.txt” :

UE sends the first poll at dT 58.372, line number 25651.

UE sends the second poll at dT 58.972 (after 600ms after first poll), line number 27640. This is sent with SN 0. This is correct, as the UE is polling with last unacknowledged PDU.

SS responds to the Poll with ACK PDU at dT 59.029, but incorrectly with SN=1 (ACKing the PDU SN=0), instead of ACKing the PDUs received till that instant. 

Analysis of log “Anitelog_7_2_3_21_Pass.txt” :

This passed log is for the same testcase tried after implementing the TTCN changes as suggested in this CR.

UE sends the first poll at dT 59.473, line number 25024.

UE sends the secnd poll at dT 60.073 (after 600 ms after first poll), line number 26776. This is sent with SN=0.

SS responds to the Poll with ACK PDU at dT 60.169, line number 26909, with SN=18, which is correct, as the last PDU received in uplink till that instant is with SN=17, at dT 60.012, line number 26567.
Change 2

	Test Case
	tc_7_2_3_22

	Reason for change
	The test case is written in such a way that the STATUS PDU always contains the Last Sequence Number (LSN)  that is populated based on the Sequence Number (SN) of the last AMD PDU received with a Poll bit set. If UE sends the Poll with the oldest unacknowledged PDU (which is correct behavior, as per section 11.3.2 of 25.322 v 5.9.0) , then the test case fails. 

	Summary of change
	VRR is updated for every PDU received, and the STATUS PDU is sent using the value of VRR, instead of the SN of the last poll PDU.
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Change 3

	Test Case
	tc_7_2_3_24

	Reason for change
	The test case is written in such a way that the STATUS PDU always contains the Last Sequence Number (LSN)  that is populated based on the Sequence Number (SN) of the last AMD PDU received with a Poll bit set. If UE sends the Poll with the oldest unacknowledged PDU (which is correct behavior, as per section 11.3.2 of 25.322 v 5.9.0) , then the test case fails. 

	Summary of change
	VRR is updated for every PDU received, and the STATUS PDU is sent using the value of VRR, instead of the SN of the last poll PDU.
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